Exam Code : AADHI_19 Allgovernmentjobs.in Exam Date : 31-05-2019
Version 19 Exam Time :09:00 - 10:30

Question No. 1
Two varieties of rice each costing Rs.50 per kg and Rs.60 per kg respectively are mixed in some ratio,
and the mixed rice is sold at Rs.70 per kg, so as to get 20% profit. What is the ratio in which the two
varieties are mixed?
A)1:5 B)2:5
C2:7 D)3:5

arae HT &Y AT 1 qea HAw: 3.50 wid e 3R .60 vid fHel &, s $o equra & @fAT & S
IR AT waa w570 vfa frelamd ¥ d=1 Jrar B, @ 20% o1 wiod g #9698 Hedrd 1T 8
59 ST arad Hr fFEAT w1 TRerar srar g2

A)1:5 B)2:5
C)2:7 D)3 :5
Answer Key : A Your Response : C (Wrong)

Question No. 2
P and Q together can do a job in 7 days. P is twice as efficient as Q. In how many days can P alone do

the job?
A)21 days B)12 days
C)10.5 days D)15 days

P 3R Q Ut A1y vk FH F 7 AT & F @ €1 P, Q & [T FAA 81 P 3hel 38 FA I fohcal
At & FT Thar 872

A)21 & B)12 &t
C)10.5 f&et D)15 fea
Answer Key : C Your Response : C (Correct)

Question No. 3
Age of A is twice that of B. Sum of their present ages is 60. What will be the sum of their ages 5 years

hence?
A)75 B)70
C)80 D)65

A &1 3T B ¥ SN §| 3o AT A T AT 60 ¥ §1 5 AW 16 3T Y F 19T AT FHIN?

A)75 B)70
C)80 D)65
Answer Key : B Your Response : B (Correct)

Question No. 4
Allgovernmentjobs.in Top



Find the missing number in the following series.

Allgovernmentjobs.in
5, 69, 101, (...), 125, 129

A)126 B)117
C)112 D)103

ffaf@a Aoft # qod dear A d fifee

5, 69, 101, (.), 125, 129

A)126 B)117
C)112 D)103
Answer Key : B Your Response : B (Correct)

Question No. 5
Which of the following is a folk dance of Rajasthan?
A)Bhangra B)Garba
C)Nati D)Ghoomar

TSTEATT FT aAF 5Jcd rfaf@a & & Sl a7 §2

A)HaTST B)araT
C)aTrer D)gFR
Answer Key : D Your Response : B (Wrong)

Question No. 6
Two tables are bought for Rs.2000 by a person. He sells them later, one at a loss of 5%, the other at a
gain of 5% thereby incurring a loss of Rs.20. What are the cost prices of the two tables?
A)Rs.1300, Rs.700 B)Rs.1400, Rs.600
C)Rs.1050, Rs.950 D)Rs.1200, Rs.800

TF cafFd, €.2000 #F ar #Ast @lear g1 91 F 97 399 F T F 5% i g W, gEd F 5% F AH |
S ST 8, o @ 3@ ©.20 #r g1 gl §1 AT AN F FI o AT RIS

A)%.1300, %.700 B)%.1400, %.600
C)%.1050, %.950 D)%.1200, %.800
Answer Key : D Your Response : D (Correct)

Question No. 7
When copper oxide is heated with hydrogen, copper metal and water are formed. What happens to the
copper oxide in this reaction?
A)Oxidised B)Decomposed
C)Reduced D)Both reduced and oxidised

o9 HIR HFASS FT §TSZIol & AT I Thar S1am 8, o oier a1 AR 9relr g E1 58 AR & S
HFATSS FT1 AT gar &7? Allgovernmentjobs.in Top



A) JitererenoT B)3rqaeaA(Decomposition)
C)31a=ra+T(Reduction) AllgovernmengBnaam 3R 3iiereientor alat

Answer Key : C Your Response : C (Correct)

Question No. 8
Find the wrong number in the given series.

360, 120, 60, 20, 11
A)11 B)360
C)20 D)60

&r a1g Aot & T T Y A

360, 120, 60, 20, 11

A)11 B)360
C)20 D)60
Answer Key : A Your Response : A (Correct)

Question No. 9
Pooja's age 4 years back and Deepa's age after 4 years are equal. The ratio of Pooja's age 4 years hence
and Deepa's age 4 years before is 3 : 1. What is the ratio of their present ages?
A)5:3 B)5:7
C)h5:2 D)4 :7

4 ¥ ggel Qo 1 HY IR 4 a¥ §1e 9T A Y S §1 Yo B 4 a¥ dlg H1 A IR A A 4 a9
Ugel T Y T AT 3 : 1 B IoTh qIAT I 1 AT FAT 82

A)5:3 B)5 : 7
C)H:2 D)4 :7
Answer Key : A Your Response : A (Correct)

Question No. 10
Which celestial body was considered as a planet till 2006 and not a planet after that?
A)Mercury B)Pluto
C)Jupiter D)Venus

fora @aelry iz & 2006 I T AT ATGT AT 3R 39 915 F & AT AGT AT STl g7

A B)# (celeY)
C)gexafd D)
Answer Key : B Your Response : Not Answered

Question No. 11
Find the area of a parallelogram with base 48 cm and height 32 cm.
A)1536 cm? Allgovernmestjaiag. tm> Top
C)1546 cm? D)1426 cm?



48 {#AY 3R 3T 32 JHT IS arer vH
A)1536 T2
C)1546 TEHe

Answer Key : A

Complete the series.

33, 36, 12, 15, 5, (...)
A) 4
C)6

Aoh & qut B

33, 36, 12, 15, 5, (..)
A)4

C)6

Answer Key : D

A“govern f obs ad !
1444 aa:ﬂna
D)1426 #érHeR?

Your Response : A (Correct)

Question No. 12

B) 10
D)8

B)10
D)8

Your Response : D (Correct)

Question No. 13

A cyclic hydrocarbon with the molecular formula CgHg is-

A)Methane
C)Naphthalene

B)Benzene
D)Cyclo pentane

319] g CeHp TRl <1 FTSZIhIae Hlel AT &2

A)FrAeT
C)=wraTellet

Answer Key : B

B)sisiet
D)W (ATSeFell) et

Your Response : B (Correct)

uestion No. 14

Which of the following is same as 14 m/s?

A)50.4 km/h
C)28 km/h

14 #iex ufd dshs &r aifa
A)50.4 frafi/eer

C)28 fafi/eer

Answer Key : A

B)70 km/h
D)46.6 km/h

& gAT &l

B)70 fFafi/gier
D)46.6 faraf/eer

Your Response : A (Correct)

Question No. 15

With which of the following sports is the term 'pitcher' associated?

A)Base ball
C)Cricket

Allgovernméntysigyball Top

D)Football



e e Frerfate # & e dr @ g &2 meniobe

A)sg STl aier
C)fshehc D)besrer
Answer Key : A Your Response : Not Answered

Question No. 16
If 'PLAY" is coded as 8123 and 'RHYME' is coded as 49367, then how is 'MALE' coded?
A)6285 B)6198
C)6217 D)6395

Ifg 'PLAY" &1 8123 for@r sirar & 3t 'RHYME' &Y 49367 for@r <irar &, af 'MALE' I @ fa@r sRem?

A)6285 B)6198
C)6217 D)6395
Answer Key : C Your Response : C (Correct)

Question No. 17
Which colour among the seven colours of the white light gets most deviated after dispersion of light
through a glass prism?
A)Red B)Violet
C)Indigo D)Orange

AT THIA F AT @ A § &leT a7 Fa F VoA g@nr gy & aRk&vor F a1 et fafea gar §2

A)eTel B)dareir
C)irer D)aAref
Answer Key : B Your Response : B (Correct)

Question No. 18
Which of the following Chief Ministers unveiled the Yuvashree Arpan Scheme in 20197
A)Arvind Kejriwal B)Nitish Kumar
C)Yogi Adityanath D)Mamata Banerjee

2019 # for=ifaf@d & & fha FEgaal @ Farsl 90T ISTar H1 =AraRor fHmar?

A)3RTIE FHordiarer B)afrcfrer $aAR
C)arefr 3nfecaara D)AHT Seloit
Answer Key : D Your Response : D (Correct)

Question No. 19
Who among the following was the President of the Constituent Assembly?
A)Rajendra Prasad B)Jawaharlal Nehru
C)B.R. Ambedkar D)C. Rajagopalachari

fAfaf@a & @ Sl dfawrer Fom & reger A2
ATSTE TG Allgovernmes\iiehgcdirer siew Top



C)B.R. 3@ dsa D)C. JISaMaTerary

Answer Key : A AIIgovern mentjobs Yaur Response : A (Correct)

uestion No. 20

Choose the alternative that best replaces the question mark(?) in the

given figure.

4 : 1

3 6 8

2 7

23 | 40| ?
g ® 47

58
C) 51 D)

54

30 foweT &1 799 &+, A HFT F 7o [T (?) & T W @™
I % fore wafcas sugFa &l

4 | 3 1
3 6 8
2|18 | 7
23 | 40 | ?
A ® 47
58
Cc D
) 51 )
54
Answer Key : A Your Response : B (Wrong)
Question No. 21
The knee cap is called as-
A)Fibula B)Patella

C)S I D)Mal
)Scapula Allgovernmen)tjo%gﬁn

Top



#f $9 (knee cap) & FIAT FHgl ST 872
A)TIT & 39T {19 4 822 (Fibula)
C)&tr &I g33r (Scapula)

Answer Key : B

Complete the series.

DMP, FLN, HKL, JJJ, (...)
A
C)MII

Aohr Fr qut A

DMP, FLN, HKL, JJJ, (..)
Al

C)MII

Answer Key : D

Allgovernmeh§oBaTifPatella)
D)#AeE (Malus)

Your Response : C (Wrong)

uestion No. 22

B)MIH
D)LIH

B)MIH
D)LIH

Your Response : D (Correct)

Question No. 23

A sum of money amounts to Rs.9800 in 5 years and Rs.12005 in 8 years at the same rate of simple

interest. What is the rate of interest?
A)8%
C)15%

B)12%
D)5%

HTYRUT sATST Sl AT ST 9T Th UTY 5 a¥ & $.9800 3R 8 ITer H ¥.12005 & AT &1 AT T T &A1

&2

A)8%

C)15%
Answer Key : B

Dendrons are parts of-
A)Nephron
C)Muscle Cell

s ¥ s §
A)ThisT
C)uefr-aifrepr

Answer Key : D

B)12%
D)5%

Your Response : B (Correct)

uestion No. 24

B)Cartilage
D)Neuron

B)3urf&(Cartilage)
D)7t

Your Response : Not Answered

Question No. 25

Allgovernmentjobs.in Top



Express the the following expression in terms of partial fraction:

% Allgovernmentjobs.in
(x+1)
A) B)
,
S -
s Ay Y X+1 (x+1)
C) D)
& 1 1, x-1
x+1 (x+1) X+1’(KJ,1}-

X

(x+1)

A) B)
5

LJ,F 1 -1 2 1

21 (x 1)’ x+1 (x+1)
C) D)

B 1, x-1

x+1 (x+1) x+1 (x +1)°
Answer Key : C Your Response : C (Correct)

Question No. 26
Three 2 V cells are connected in series and used as a battery in a circuit. What is the potential difference
at the terminals of the battery?
A)1 Volts B)6 Volts
C)4 Volts D)2 Volts

Mamﬁaﬁguzv*enﬁma:rquﬁwﬁaw*mﬁ%mm%lQzﬂ#aﬁﬂaa”ra:
¥ AsTaiaR Ata ffSw]

A)1 dee B)6 alee
C)4 dree D)2 alee
Answer Key : B Your Response : B (Correct)

Question No. 27
Allgovernmentjobs.in Top



After completing a work together in 2 days, P and Q received Rs.1200 and Rs.400 respectively as wages.

In how many days will Q alone complete Aiga@si{Tmentjobs.in
A)6 days B)1/3 days
C)8 days D)3 days

2 feat # v Ay R HE F QWA F dlg, P 3R Q FF HAT: $.1200 3R 7400 AA| Q kel FrA

el feat & qr &em?

A)6 f&T B)1/3 f&aT

C)8 Tt D)3 f&at

Answer Key : C Your Response : A (Wrong)

Question No. 28
How many squares are there in the given figure?

A) 03 B)
45

©ag D)
55

&r 72 A H foraar 797 €2

A) 93 B)
45

Allgovernmentjobs.in
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c D
)36 )

Allgovernmentjgps.in

Answer Key : D Your Response : D (Correct)

Question No. 29
Which of the following vitamins is NOT fat soluble?
A)Vitamin A B)Vitamin K
C)Vitamin D D)Vitamin C

frafaf@a & & sia a1 RAerfds gar 7 e 78 872

INERIGEE B)faerfdsr K
C)fderf@s D D)faerf@e C
Answer Key : D Your Response : C (Wrong)

Question No. 30

Choose the alternative that best replaces the question mark(?) in the

given figure.
"
A) B) 68
71
C) D) 64
74

30 oo &1 999 *, A HFd F 7o B (?) & T W ™
= & T mafeasw sugeEa &

Allgovernmentjobs.in Top




A) B)

68
71 Allgovernmentjobs.in
C) D) 64
T4
Answer Key : A Your Response : A (Correct)

Question No. 31
Who among the following has scored the most runs in Ranji Trophy?
A)Devendra Bundela B)Mithun Manhas
C)Amol Anil Muzumdar D)Wasim Jaffer

ffaf@a J & fFasr Iurel grhr J @aifss o sae §2

A)ede gee B)fAys Hegrd
C)3tATel 3ol AFHACR D)gdiH STH
Answer Key : D Your Response : D (Correct)

Question No. 32
f5#3@3=12and7#2 @ 4 = 10, then what willbe 2# 9 @ 57?
A)26 B)32
C)13 D)29

IR 5#3 @3 =123 7#2@4=10% AT 2#9 @ 5 F AF AT |

A)26 B)32
C)13 D)29
Answer Key : C Your Response : C (Correct)

Question No. 33
Which of the following scientist(s) was awarded Nobel Prize in Genetics ?
A)Bateson B)Both Morgan and Khorana
C)Morgan D)Khorana

Al # @ fFa darfas w1 IFgEiihr & &7 J Al [NERR Jer fHar arar ar?

A)Fead B)&AeT 3R G gt
C)AfNe B)cric)
Answer Key : B Your Response : B (Correct)

Question No. 34
The reaction between sodium hydroxide with zinc gives the product-
A)Zinc oxide B)Reaction is not possible

C)Sodium zincate D)Zinc hydroxide
Allgovernmentjobs.in Top



Aifzasd gsgieass 1 5iF (zine) F a1y IATHAT & Facasy 3c9eT gidT &l

A meaTss AllgovernmehgoBSHAT Te1a el &
Cc)azad foihe D)5+ gssiaarss
Answer Key : C Your Response : D (Wrong)

uestion No. 35

If in a certain language 'CHAMPION' is coded as 'HCMAIPNO', how is 'NEGATIVE' coded in that code?

A)ENGAETVI B)ENAGVEIT
C)EGAITEVN D)ENAGITEV

Tk fARYd Fes T & 'CHAMPION' &I 'HCMAIPNO' far@r offar &, et estsT & 'NEGATIVE' &1 &

for@r smemr?

A)ENGAETVI B)ENAGVEIT

C)EGAITEVN D)ENAGITEV

Answer Key : D Your Response : D (Correct)

Question No. 36
Which of the following form a set of homologous series?
A)Ethane, methane and ethyne B)Ethyne, propyne and butyne
C)Ethyne, propyne and butene D)Ethane, methane and propene

i@ & @ Sler @1 Ferchg Ao w1 THE F1T 82

A, HrdeT 3R sUST B)suTS<, Wurss 3R sgers
C)&ursd, Wurse 3R g&= D)3, FArde 3R wrdieT
Answer Key : B Your Response : B (Correct)

Question No. 37
Which of the following is a desert tree?
A)Banyan B)Betel nut
C)Coconut D)Palm

faf@a & a9 a7 v PEaE 93 §2

INERTICY B) gy
C)aTiRTer D)ars
Answer Key : D Your Response : D (Correct)

Question No. 38
Which of the following statements is FALSE?
1. The object is always placed to the left of the spherical mirror.
2. All distances parallel to principal axis are measured from pole of the mirror.
3. All distances measured to the right of the origin are taken as negative.

4. Distances measured perpendicular to and above the principal axis are taken as positive.

A) 1 B) 3
C) 4 Allgovernmemijops.in
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AT @d # O HiT A1 HUT TET 6T 87

Allgovernmentjobs.in
1. TG FT A MAT GIUT & a1 AN @ AT 5

2. &Y 3T & FATAR T g g¥or & ¢@ § AT S

3. Ho fdig & ar$ 3R A a1 Wl qfY &1 HomeAs foar ST

4. FET 3787 & IR 3N 38% dead AT A arelr @ gRAT Fr FoTHS o ST ¥

A) 1 B) 3
C) 4 D) 2
Answer Key : B Your Response : Not Answered

Question No. 39

To row a certain distance upstream and downstream takes ti hours
and t: hours respectively and speed of stream is'y' km/h. Find speed

in still water.

A) B)
£t} | t, +t,)2y |
172 |y | km/h {[1—} | km/h
i+ ~J (ti-t2) |
C) D)
1 5 5 2
(t1+t9)y | km/h [tl Otj ] km/h
(t,-ts) L

quUF T it g Hr e F Fh FRT P aw F= &
FAM: t AT . T TS & 3 oamw Fr afy 'y B/ wer d1 oo
T H =T AT FfeT

A) B)
q
bty || Rt Ftl +t2)27 | Fraferer
t,+t, ) J (ti-t2) |
C) D)
7] 2 2 .
—(t1+tf)y'ﬁm’rfﬁa [tlo = ] ferefi/erer
(t,-ts) =
Answer Key : C AIIgovernmentjobs.Tﬁ”’ Response : C (Correct)

Question No. 40



Read the following information carefully and answer the question given below.

Allgovernmentjobs.in

Eight students—S, T, U, V, W, X, Y and Z are sitting around a circle facing the center. S is second to the
right of Y who is third to the right of T. V is second to the left of X who sits between Y and S. U is not a
neighbour of T or W.

Who is to the immediate left of U?

A) Z B) T
C) W D) S

fATRT SeRT & eI O 9¢ 3R T R’ 710 9e #7 3ca) &)

7S BA-S, T, U, V, W, X, Y 3R Z & Jead & aRT AR &5 #Y 3N 75 3 S5 §1 S, Y & a1 3% g@y
A W ISTESANT F a8 3R Ay TAT WAST IV, X F &8 AN GE TUT W AT g, s Y IS &
AT FISTEIU, TATW & F91 H A8l doT gl

U & &% a1 3R @i dor 7

A) Z B) T
C) W D) S
Answer Key : D Your Response : D (Correct)

Question No. 41
For what values of 'K' does the equation x2 + 2Kx +4 = 0 have one real solution?
A)-2,0 B)2, -2
C)0 D)2, 0

'K & g AT & T FHiaor x2 + 2Kx +4 = 0 &7 T JIEdids gl 87

A)-2, 0 B)2, -2
C)0 D)2, 0
Answer Key : B Your Response : B (Correct)

Question No. 42
After spending 30% of his salary, a man had Rs.2100 left. From the remaining amount, he spent 15% on
minor repairs. What are his savings?
A)Rs.1785 B)Rs.1200
C)Rs.1600 D)Rs.1685

Allgovernmentjobs.in Top



el ddd & 30% T el & G,
g Ful 3T gud fRaer 872
A)%.1785

C)%.1600
Answer Key : A

sin B-2sin® 0
Simplify:
R 2 cos’B-cos O

A)

gin @+ cos B

C)

2sin B cos B

. -
sin0-2sin” 6
o FifaT: 5

3
2 cos” O-cos B

A)

sinB+cos O

C)

2sin B cos B

Answer Key : D

Find the ODD one out.

2222, 222.2,22.22, 2.222
A)2222
C)22.22

Allgovernmentjobs.in
B)%.1200

D)%.1685

Your Response : A (Correct)

uestion No. 43

B)

sinB - cos B

D)

tan B

B)

sinB-cosB

D)

tan 6

Your Response : D (Correct)

Question No. 44

B)2.222

D)222.2
Allgovernmentjobs.in

Teh 3MeHT & 9 .2100 | A¥ AR &, 3T 15% ARl AFAT

Top



3HIT F e |
Allgovernmentjobs.in

2222, 222.2, 22.22, 2.222

A)2222 B)2.222
C)22.22 D)222.2
Answer Key : A Your Response : A (Correct)

Question No. 45
Which of the following can be beaten into thin sheets?
A)Oxygen B)lron
C)Sulphur D)Nitrogen

A & ¥ R fiea gael Aey aA1S ST Ty §2

A) 3ifereirate B)eler
C)Hem D)ATSgIST
Answer Key : B Your Response : B (Correct)

Question No. 46
A circular wire of radius 7cm is bent to form a rectangle whose sides are in the ratio 4 : 7 what is the area
of the rectangle so formed?
A)56 cm? B)60 cm?
C)112 cm? D)84 cm?

7 QA AT T T edlpR IRl Toh QAT AT ool & [T AT 13r &, fSehr e 4 © 7 & 3rqard
# 1 39 yR AT 39a 1 &awa 719 ST

A)56 FHR B)60 J#H2
C)112 q#2 D)84 TR
Answer Key : C Your Response : C (Correct)

Question No. 47
Where is insulin produced in the human body?
A)Bile duct B)Liver
C)Spleen D)Pancreas

AT R & FGT T IcaTe Fal Qe &7

A)Tca arfger B)Ishd
C)TellgT (Spleen) D)319=arery
Answer Key : D Your Response : D (Correct)

Question No. 48
When the digits of a two-digit number are reversed, the value of the number is increased by 45. The sum
of the digits is 11. What is the original number?
A)83 Allgovernmemgaps.in Top
C)38 D)24



S.In

mﬁaﬁﬁm%wmﬁw@g@}ﬁﬁénﬁomﬁm%aasn?n%lmﬂa’mqﬁrﬁ

&1 HoT FEAT FAT §7?

A)83 B)65
C)38 D)24
Answer Key : C Your Response : C (Correct)

Question No. 49
On which date is International Day for Biodiversity observed?
A)5 June B)15 May
C)20 May D)22 May

IR Ja R_fvyar aw e aii@ &1 Ja=—r Jar 872

A)5 ST B)15 &S
C)20 #S D)22 &g
Answer Key : D Your Response : D (Correct)

Question No. 50
Where is 'Keibul Lamjao', the only floating National Park in the world, located?
A)Meghalaya B)Nagaland
C)Manipur D)Mizoram

faeg &1 THATT RAT TG 3T "FIGA AHSAIA Fgl o §2

A)RgTer SEIEICE
C)#fogY D)fASRA
Answer Key : C Your Response : C (Correct)

Question No. 51
After which Prime Minister was a sports award named in India?
A)P.V. Narasimha Rao B)V.P. Singh
C)Charan Singh D)Rajiv Gandhi

R # F8 JUTeTdHN & o W Uh Tl [PEPR HT A1 @1 7417

A)dr. @Y. Rf@FeT @ B)dT. dr. A%
C)uT &g D)Irsita et
Answer Key : D Your Response : D (Correct)

Question No. 52
What was the name of the space shuttle that landed man on the moon?
A)Columbia B)Apollo
C)Eagle D)Challenger

3H 3HARET A &1 AH 7 § O0d AsT o TgAT W FHed @r?
A)Freifaar Allgovernmesitiahsyin
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C)garet DECER
Answer Key : B AIIgovern mentjoﬁggl_ﬁ-ﬁesponse : Not Answered

uestion No. 53
An alkali is a base that dissolves in-

A)Water B)Acid

C)Mercury D)Kerosene

Tohell Teh ¥AT &R &, St # gol AT Bl

A)TTY B)31Fcr

C)arT D)aRIf&eT

Answer Key : A Your Response : A (Correct)

Question No. 54
Babu Lal Marandi was the first chief minister of which Indian state?
A)Uttar Pradesh B)Karnataka
C)Jharkhand D)Chhattisgarh

91q, el ST R & fFA T & Tger ATIHA A2

A)3ccR geer B)&aTesh
C)3IR@s D)ScdIaqTe
Answer Key : C Your Response : D (Wrong)

Question No. 55
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which
best fit(s) logically.
Statements:

1) All colours are pants.

2) All pants are brushes.

Conclusions:
I. Some brushes are pants.
Il. Some brushes are colours.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Neither conclusion | nor Il follows D)Only conclusion Il follows

Allgovernmentjobs.in Top



3 Ue #, A FYl & 1 & sy fRw av §1 39 s (8) | e, S aifdes v & weifts suged
gl Allgovernmentjobs.in

hYod:
1) @afr a1, 9 €I

2) g 9e, §or gl

forsa:
l. T 591, ¥ &

. F& g9, @1 g
Ay | 3R 1l 2t & 3ugeFd g B)der sy | 3uged gl
C)ar ar fasey | &7 & 1l 39gerd Bl D)der ey || 3uged g

Answer Key : A Your Response : A (Correct)

Question No. 56
Mohan started from point A and proceeded 7 km straight towards east, then he turned left and proceeded
straight for a distance of 10 km. He then turned left again and proceeded straight for a distance of 6 km,
and then turned left again and proceeded straight for another 10 km. How far and in which direction is he
from the point A?
A)1 km, west B)1 km, south
C)2 km, north D)1 km, east

Alg o g A ¥ T & fFar 3R @ qF & 3R 7 R To, AR a8 9% 3R A3 3R @ 10 R
dr gt =arl g8 Y 918 3R A3 3R A 6 AT Tem, 3R BT @ 1 3 7qT AR W 10 A Tem) TE
foig A & foRaer oY 3R forg feem 7 87

A)1 foralt, giRas B)1 feralt, cfator
C)2 &I, Iea} D)1 faratt, q&
Answer Key : D Your Response : D (Correct)

Question No. 57
Complete the series.

YA, PP, IP, DL, (...)

A)GE AIIgovernmé“}f%‘:bs.in Top
C)TN D)YS
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YA, PP, IP, DL, (...)

A)GE B)AE
C)TN D)YS
Answer Key : B Your Response : B (Correct)

Question No. 58
In this question, a statement is given followed by four conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statement:
In the university examination, most of the candidates take exam in Hindi medium.

Conclusions:

I. Some candidates take exam in Hindi.

Il. Most of the candidates appeared for the examination are from Hindi medium.

ll. In this examination no candidate writes answers in medium other than Hindi.

IV. All the candidates who appear in this examination write answers in Hindi.

A)Only conclusion IV follows B)Both conclusions | and Il follows
C)Only conclusion | follows D)Only conclusion Il follows

S W H, Ush HYA & §Ig IR forshy U a1v §| 39 foseny &t (3 forsehst 1) Ior ST arfehed &9 & qo 9
3UYFA &

Yo
freafae@rery odiem &, s srigar e arcan 7 owa §1

IGAC P

. 58 e & Fo 3FHeaR {7 fowa g

ll. SaTETar Ty ATETA arer 3FAgar 36 96T # 39fyd g gl

. 37 girem & FS Y 3rAcar {Er & 3TAEr 3 ATEYH H 3o Agl for@dr gl
IV. 930t 3Ficar S 58 qdeT 7 39y g §, 3cax fFdr F forma &

A)Fae sy IV 3uged g B)feisy | 3R 1l @&t & 3ugeFd &
C)dae fasay | 3uged 3| D)Faer fasey Il 3uged &
Answer Key : D Your Response : B (Wrong)

Question No. 59
Bile secreted by liver helps in -

A)Respiration B)Excretion
C)Digestion D)Purification of blood
Allgovernmentjobs.in Top
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A)eaEe
C)uraet

B)HeTeaT
AllgovernméeieBsim L&dT

Answer Key : C Your Response : C (Correct)

Question No. 60
If 'sti nro kti' stands for 'clouds pour down', 'nro bsi mit' stands for 'down he goes', and 'bsi nro zpi' stands
for 'died down he', which word would mean 'goes'?

A)bsi
C)mit

B)nro
D)kti

gfe 'sti nro kti' F1 IFFAYT 'clouds pour down' §, 'nro bsi mit' & HfRWURT 'down he goes' §, 3K 'bsi
nro zpi' @1 AU 'died down he' &, W Uusg FT 3FTRYT 'goes' & ghm?

A)bsi
C)mit
Answer Key : C

B)nro
D)kti

Your Response : C (Correct)

Question No. 61

Palaeontology deals with the study of -

A)Hard shells B)Feathers
C)Fossils D)Bones
AforicTarsT & AT § e lRd B

A)FSR et B) gt
C)hrarest D)esfsat

Answer Key : C

Your Response : A (Wrong)

uestion No. 62

Iy

Evaluate: L -4 cos’45°

sin47°)  (cosd43°Y
cos 43°

sin 47°

F,

B)

D)

| ]

Allgovernmentjobs.in Top



I

sin 47°Y [cos43°Y .
H + k3 & +] . .
LE) [ cos 43° J I s A7° J PdgovEmnmentjobs.in

A) B)

0 -3
C) D)

1 2
Answer Key : A Your Response : A (Correct)

Question No. 63
Which of the following devices uses Archimedes principle?
A)Hygrometer B)Hydrometer
C)Barometer D)Thermometer

AR & O g 3usor & A8 & Rigia &1 3939 giar 2

A)gTSaHIE B)grsaHex
C)R#ex D)
Answer Key : B Your Response : B (Correct)

Question No. 64
Which of these countries was created in the twentieth century?
A)USA B)Bangladesh
C)Japan D)Nepal

SoTel & FoRd &1 Y TUTIeT i eraredr # g% A

A)USA B)aiTelreer
C)<areT D)adTer
Answer Key : B Your Response : B (Correct)

Question No. 65
The frictional force on an object in a
fluid depends on what?

A)lts speed with respect B)AIl of the options
to the fluid
C)Nature of the fluid D)Shape of the object
forely ga % avg W T arar a¥or T Ry aveRERemiabE M Top

A)gd & IYeT s fa B)sH & Y



Cyza #r 5f

Answer Key : B

D)a&q &1 3mpfd
AIIgovernmentjobs.Yﬁ“’ Response : B (Correct)

uestion No. 66

Which number will best complete the relationship given below?

25:9::16:?
A) 11
C)6

B) 4
D) 8

FieT d WEAr A U v Faw @ waledd dor ¥ qUT F?

25:9:16: 7
A)11

C)6
Answer Key : B

B)4
D)8

Your Response : B (Correct)

Question No. 67

Find the value of tan® 60° - 2 tan® 45° - cot® 30° + 2 sin? 30° + 3/4

cosec® 45°.

A)

L2

Loif;ﬂ

tan® 60° - 2 tan® 45° - cot® 30° + 2 sin? 30° + 3/4 cosec® 45° =Rl HIA

AT FIfSAT]

A)

L2

B)

Allgovernmentjobs.in
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C) D)
AIIgovernmenth}?.in

')

—

Answer Key : B Your Response : B (Correct)
uestion No. 68

If 3454++125=17.88, then find the value of 80 +6.5.

A) B)

22.35 22.25
C) D)

18.75 20.235

Ifg 3./5+.125 =17.88 . dl B0 +6.5 &1 AF AT HITATI

A) B)
22.35 22.25
C) D)
18.75 20.235
Answer Key : A Your Response : A (Correct)

Question No. 69
Which of the following can be produced by dolphins, porpoises, bats and rats?
A)Music B)Ultrasound
C)Note D)Infrasound

sifews, RIYAR, Toes 3R gt ganr PHERYRIGMPRITREE scues fRam o Tear &7

Top



Aygaia B)3TecaT3s

C)aAre AllgovernmengetaTEs

Answer Key : B Your Response : B (Correct)
Question No. 70

Which of the following is NOT an insectivorous plant?

A)Venus fly-trap B)Prothallus

C)Pitcher-plant D)Sundew

faf@a & & sia a1 v Hiexsh gter a8 82

A)dTH TS T B)urderE
C)=eyvuff(Pitcher-plant) D)&=3g
Answer Key : B Your Response : A (Wrong)

Question No. 71
When will the tenure of Chief Justice of India Ranjan Gogoi end?
A)17 December 2019 B)12 August 2019
C)17 November 2019 D)15 October 2019

AR & FAET TN ot MNS FT FIAHTS FHd FHTCT graN?

A)17 feaFsT 2019 B)12 3mrEd 2019
C)17 sAaFs¥ 2019 D)15 3fergsiT 2019
Answer Key : C Your Response : A (Wrong)

Question No. 72
The base of a right pyramid is a square of side 24 cm and height of the pyramid is 16 cm. What is its
lateral surface area?
A)1020 cm? B)960 cm?
C)1024 cm? D)890 cm?

wF gASi RUffs &1 3R 24 @ o # v a9 § AR RufRs f FEe 16 S ¥ swer ared
TS8R 8% AT ST

A)1020 T#HR2 B)960 {2
C)1024 T2 D)890 [
Answer Key : B Your Response : B (Correct)

Question No. 73
A number leaves a remainder 4 when divided by 6. What is the remainder when its square is divided by
6?
A) 3 B) 5
C) 4 D) 2

3T TH TEIT aﬁsﬁﬁmﬁaﬁmm‘%lﬁﬁmﬁ,%m%lmgqﬁw;aﬁﬁs#ﬁﬂﬁa
T STaT &, @ ANGS FAT BRI governmentjobs.in T



A)3 B)5
C)4 Allgovernmédltibbs.in

Answer Key : C Your Response : C (Correct)

Question No. 74
A certain sum invested for T years at 10% per annum Simple Interest amounts to Rs.400. The amount
gets halved when the interest comes down to 4% per annum, the principal and time being the same. What
is the principal and value of T?
A)T =50 years; P = Rs.200 B)T = 25 years; P = Rs.200/3
C)T = 50 years; P = Rs.200/3 D)T = 50 years; P = Rs.100

T a¥ & faT 10% 9fa af W AR & ARad afr | grea g arem AraRor sarer $.400 §1 Fqerae 3R
Wmmguaamw4%9ﬁaﬁg’rm%,mm3mﬂﬁaﬁﬁ%lTa:rm?rsﬂTﬂerr
AT H<

A)T = 50 a¥; P = %.200 B)T = 25 a¥; P = %.200/3

C)T = 50 a¥; P = %.200/3 D)T = 50 a¥; P = %.100

Answer Key : C Your Response : A (Wrong)
Question No. 75

Find the ODD one out from the given options.

A)Kind : Cruel B)Slow : Sluggish

C)Stale : Fresh D)Truth : Lie

R a1w Rrsest & & ImEra A G

A)eare] fareT B)elieT : g&EdT

C)srdr : drsi D)FT : 33

Answer Key : B Your Response : B (Correct)

Question No. 76
An article marked at Rs.80 is sold for Rs.68. What is the rate of discount?
A)15% B)16%
C)12% D)18%

¥.80 i Hed arell TH & I T.68 # ¥°1 J1aT §1 P A &I AT HifoC|

A)15% B)16%
C)12% D)18%
Answer Key : A Your Response : A (Correct)

Question No. 77

Allgovernmentjobs.in Top



Read the following information carefully and answer the question given below.
Allgovernmentjobs.in

Eight captains of different volleyball teams—Iran, Germany, Romania, Serbia, Tunisia, China, Brazil and
Cuba are sitting around a circular table and are facing the centre, but not necessarily in the same order.
Romanian captain sits third to the left of the Tunisian captain. Only two people sit between the Iran
captain and Brazil captain. Neither the Iran captain nor Brazil captain is an immediate neighbour of the
Romanian captain. The captain of Cuba sits second to the right of the China captain. China captain is not
an immediate neighbour of the Romanian captain. The Iran captain sits third to the left of the Romanian
captain. Captains of Serbia and Germany are not immediate neighbours. Serbia captain sits third to the
left of the China captain.

How many persons are sitting between the captain of China and Romania in clockwise direction?
A)Four B)Two
C)Three D)Five

faf@d SR & &9 § 9¢ 3R T R’ 31T 92 FT 3c} &l

gedi®R AT % IRT A Hg i AN Hg FH I8 §, AfdaT S 7T & 5 A 7 g QaAraar & Fedr,
TERAT & Foae & a5 3R i T | 8 §1 U & Feae 3N Joiid & & & a9 ahad al
AT 45 §1 T A KA & Fodad IR A TN & FHodlel JAMNAAT & Fodlel & N q9Tl H S &1 Fga1 &
el AT & FeAT & T8 AR g T W IS g1 AT & Fode, QAT F Fodid F 8 91 7 A
¥ T ST F Fead VAAAT F Fead & T 3R TR TUa W $3 §1 gfear ik 595+ & sveas s

Y & OF 9T A FEF A5 §1 AT & Fede DT F FodA F a8 A AW FTAH | IS

Ziaumad faem #F e 3R dafe—r & FoaT & 9 fhde afed 98 &2

AR B)ar
C)diret D)ara
Answer Key : C Your Response : C (Correct)

Question No. 78
What fraction of an hour is 48 seconds?
A)1/75 B)4/75
C)4/300 D)2/73

Teh ©¢ T fohcdell HTT 48 Tehs o SXIeT BT &7
A)1/75 B)4/75
C)4/300 D)2/73

Answer Key : A our Response : C (Wrong)

AIIgovernmentjobs.i}(n
Question No. 79

Top



In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit

(s) logically. Allgovernmentjobs.in

Statement:
Video-libraries are flourishing very much these days.

Conclusions:

I. People in general have got a video craze.

Il. It is much cheaper to see as many movies as one likes on videos rather than going to the cinema hall.
A)Neither conclusions | nor Il follows B)Only conclusion | follows

C)Either conclusion | or |l follows D)Only conclusion Il follows

S UeT H, Teh U & d1G of sy faw 1w &1 37 forsehd(vh) &t e, S difcheh §7 @ Failits 3uged gl

HYoT;
NfSA-ega{ H-Fel G FA-Fel W@ B

IGLC=OR
|. ATET: 9T 37 AfSAT &1 ot
. fAoYAT gfcT & I & SolT A W 3Tl Wig F A« ¥ Roesd @ F1hr Fear 1

A)ar ar fasehy | 3R & € 1l 3ugEd Bl B)der ey | 3uged gl
C)am ar fasey | a7 |l 39ged gl D)der ey || 3uged g
Answer Key : A Your Response : B (Wrong)

Question No. 80
EKS Kosmos 2510 is the first satellite having early warning system launched by-

A)Russia B)India

C)USA D)Japan

EKS TR 2510, caRd Aaraedt yomell JFd Iga 39958 ¢, S garT waifa fRar amar g
A)&H B)sRa

C)USA D)sTaTeT

Answer Key : A Your Response : D (Wrong)

Question No. 81
In a two-digit number, the digit in the unit's place is four times the digit in ten's place and sum of the digits
is equal to 10. Find the number.
A)82 B)14
C)28 D)41

ar 3Rl fT FEAT A, P FT 3 &ge & 3P & IR AT § AN 3l &1 AT 10 F R g1 F&AT A
]

A)82 AIIgovernmeé’stHbs.m Top



C)28 D)41

Answer Key : C A||govem mentjobs.ﬂ‘Pur Response : A (Wrong)
Question No. 82

Find the greatest number of four digits exactly divisible by 15, 25, 30 and 45.

A)9000 B)9600

C)9400 D)9900

IR et Y 9 T § I F&AT AT AT, S 15, 25, 30 AR 45 § qUIAAT ST @

A)9000 B)9600
C)9400 D)9900
Answer Key : D Your Response : A (Wrong)

Question No. 83
Which of the following denotes currency with the public?
A)M3 B)M2
C)m4 D)MA1

frfafRa & & S S=ar & o Alsg Fqgr Fr gt §2

AYM3 B)M2
C)M4 D)M1
Answer Key : D Your Response : B (Wrong)

Question No. 84

Choose the figure that best represents the relationship among the
classes given below.
Indoor games, Chess, Table tennis, Cricket

A) B)

0o o o o

F TI9 H, 7 AT 0E F i F gEg #+
Tafeas & & fawla & e
SN AT, AT, 9 <A H, Thepe

4

Allgovernmentjobs.in Top
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Answer Key : A Your Response : A (Correct)

Question No. 85
Find the missing number in the following series.

11, 30, 22, 41, 33, (...), 44, 63

A)48 B)52
C)56 D)41

ffaf@a Aoft # qod e A g fifee

11, 30, 22, 41, 33, (..), 44, 63

A) 48 B) 52
C) 56 D) 41
Answer Key : B Your Response : B (Correct)

Question No. 86
Elements of the second period are known as-

A)Typical elements B)Earth metals

C)Transition elements D)Bridge elements

g 3Mad F deal ® ®T F AT AT B

A)fafarse dea B)#Her arq

C)HshHT ded D)&q dcd

Answer Key : D Your Response : B (Wrong)

Question No. 87
What is the name given to the phenomenon of throwing light in various random directions?
A)Dispersion of light B)Refraction of light
C)Reflection of light D)Scattering of light

e acicos fEumsit # garer & bae fr aRaear 1 Fa7 FHgr Srar g2
A)TeTel ST gRETqoT B)WehIeT T 3T9dciel
C)JahTel ST TRIdcieT Allgovernmen\iehe. i seota Top



Answer Key : D Your Response : D (Correct)

Allgovgraumsentiops.in
The atomic number is denoted by the alphabet-
A) A B) X
C)Z D)N

AY] FHATh FI A HaR egRT A8 B sar g2

A)A B)X
C)Z D)N
Answer Key : C Your Response : A (Wrong)

Question No. 89
Where is the Lakh Bahosi Sanctuary located?

A)Uttar Pradesh B)Odisha

C)Jharkhand D)West Bengal

TG SEIET THARVT Fgl U §?

A)3cdR geer B)3Nf2ar

C)aR@vs D)afRae semer

Answer Key : A Your Response : D (Wrong)

Question No. 90
Find the ODD one out from the given options.

A)9 B)8
C)25 D)16

Rw T Rrpedt 3 & T T

A)9 B)8

C)25 D)16

Answer Key : B Your Response : B (Correct)

Question No. 91
Resistance (R) = Voltage(V)/ .
A)Current (1) B)Power (P)
C)Charge (Q) D)Work (J)

gfaRrer (R) = ateest (V)/

A)ERT (1) B)<rfed (P)
C)3maer (Q) D& (J)
Answer Key : A Your Response : A (Correct)

AllgoVR#HReN8% in Top



P can complete a work in 6 days. Working with the help of Q, the job is completed in 7 days. If P starts the
work and P and Q work on alternate days\|igd\@yinasmytdasinan Q alone complete the job?

A)10 B)8

C)9 D)12

P fohell & @1 6 &t U R HehaT §1 Q F WY A A §C FE 7 T H Q@ S g1 A P FA
& T & AR P 3R Q FAT: 1H-TF R 91¢ FH WA §, Q I3F FH s et & Q@ F FFar 52
A)10 B)8
C)9 D)12

Answer Key : C Your Response : D (Wrong)

Question No. 93

1
Evaluate: ———
1+ T
§ B ¥
1 1
=
A) B)
3/2 3/8
C) D)
4/3 3/4
1
g HIfST: —
1+ T
3 B SR
.1
2
A) B)
32 3/8
C) D)
4/3 3/4

Answer Key : D Your Response : D (Correct)

Question No.94
Allgovernmentjobs.in Top



Find the ODD one out from the given options.

Allgovernmentjobs.in

O
(@)

|
o®

faw a1v Rsreat 7 & 8T & A

©
j >

] 4

] o

Answer Key : B Your Response : D (Wrong)

Question No. 95
Find the smallest fraction.

A)13/16 B)7/8

C)63/80 D)31/40

A B et A1 &Y

A)13/16 B)7/8

C)63/80 D)31/40

Answer Key : D Your Response : A (Wrong)

Question No. 96
The junction between two neurons is called-

A)Gap junction Al Motor end plate
overnm
C)Synapse 9 e[%tlk? de of ranvier



A T F AT F SARIT F T E"S\rhggvernment'obs.i‘n

A)3RTer S8 (Gap junction) B) der 3d el
C)qg AT DRATRR & Aigd
Answer Key : C Your Response : C (Correct)

Question No. 97
The amount of the solute present in the saturated solution at a particular temperature is called its-

A)Solubility B)Stability

C)Visibility D)Viscosity

et Ry ara @X dqea Reraer 7 #igg Rea & 7w at s gl ST &
A)faeraar B)Famied

C)zTdr D)_ITeAdr

Answer Key : A Your Response : A (Correct)

Question No. 98
Adding electrons to an atom will result in-

A)Molecule B)Anion

C)Neutron D)Cation

ot qaTo)  IfaRed goleela Sise @ aF colkc il

A)31o] B) = UTII=T(Anion)

C)=ggret D)¥=rge1(Cation)

Answer Key : B Your Response : B (Correct)

Question No. 99
Which product of petroleum is used to drive heavy vehicles like truck?
A)Kerosene B)Petroleum gas
C)Petrol D)Diesel

TH oI HRY argal @ gde F v deifemd & R 3curg &1 3Taer fRar e 82

INEzuE:CH B)uciferas 3w
C)dgrer D)greret
Answer Key : D Your Response : D (Correct)

Question No. 100
Vijayan started walking towards south. After walking 15 m, he turned left and walked 15 m. He again
turned left and walked 15 m. How far and in which direction is he from his starting point?
A)30 m, east B)15 m, west
C)15 m, south D)15 m, east

faorger gffror v AR Taar ¥ Far §1 15 MW TN F 916, qF S IR q31 3R 15 eI el T|@W R
¥ ¢ IR 7T 3R 15 FeX Toml 7 30 GRPRNEENEORSH Y iR fra R F ¥ Top



A)30 #Hrex, gd
C)15 #rex, gfaror

Answer Key : D

B)15 #ex, af¥asT
Allgovernmd|8b8IE, 1@

Your Response : D (Correct)
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